EXTREME REAR BUMPER KIT

POGLARIS

P/N 2879452, 2881585
APPLICATION

Verify accessory fitment at Polaris.com.

BEFORE YOU BEGIN

Read these instructions and check to be sure all parts and tools are accounted for.

Please retain these installation instructions for future reference and parts ordering
information.

KIT CONTENTS

This kit contains parts for installation of the Extreme Rear Bumper only. Prior installation of the Low Profile Rear
Bumper Kit, PN 2880560 or 2881589, is also required (sold separately).

This Kit includes:

| &

REF | QTY | PART DESCRIPTION PART NUMBER
1 1 Bumper, LH -

2 1 Bumper, RH -

3* 2 Screw, Socket Cap-M10X1.5X 25 7517358

4* 2 Screw, Hex Flange - M8 X 1.25 X 90 -

5* 2 Threaded Mount -

Instr 9924481 Rev 03 2017-01 Page 1of3



REF | QTY | PART DESCRIPTION PART NUMBER
6* 2 Screw, Hex Flange - M8 X 1.25 X 20 -
1 Instructions 9924481

Iltems marked (*) are included in Hardware Kit PN 2205115.

TOOLS REQUIRED

» Safety Glasses
* Socket Set, Hex Bit, Metric

IMPORTANT

« Socket Set, Metric
» Torque Wrench

Your Extreme Rear Bumper Kit is exclusively designed for your vehicle. Please read the installation instructions
thoroughly before beginning. Installation is easier if the vehicle is clean and free of debris. For your safety, and to
ensure a satisfactory installation, perform all installation steps correctly in the sequence shown.

ASSEMBLY TIME

Approximately 15 minutes

INSTALLATION INSTRUCTIONS

1. Shift vehicle transmission into “PARK”. Turn key to
“OFF” position and remove from vehicle.

2. Remove plug ® from each end of existing bumper.

Plugs will not be reused.

NN
AN

3. Loosely install threaded mount ® to tapered fitting
on LH upper bumper (@ using screw ®. Screw
should engage only a few threads of threaded
mount.

NOTE

Over-tightening screw will prevent new bumper from
fully entering tube opening in existing bumper.

Insir 9924481

Rev 03 2017-01

Page 2 of 3




4. Fully insert threaded mount ® and tapered fitting 6. Repeat Steps 3-5 for RH bumper @.
on LH upper bumper O into existing bumper. Do 7. Install RH bumper @ to LH bumper @ using two
not tighten screw @ at this time. screws Q).

5. Loosely install screw ® up through mounting ear 8. Torque all screws to specification.
in existing bumper into LH upper bumper (.

M8 screws @®: 16 + 2 ft. Ibs. (22 £ 2 Nm)
M10 screws ®: 40 £ 4 ft. Ibs. (54 £ 5 Nm)

FEEDBACK FORM

A feedback form has been created for the installer to provide any comments, questions [ FEEDBACK FORM
or concerns about the installation instructions. The form is viewable on mobile devices
by scanning the QR code or by clicking HERE if viewing on a PC.

Instr 9924481 Rev 03 2017-01 Page 3of3


https://form.jotform.com/61263903942153?&number=9924481&revision=R03

	Extreme Rear Bumper Kit 
	Application 
	Before You Begin 
	Kit Contents 
	Tools Required 
	Important 
	Assembly Time 
	Installation Instructions 
	Feedback Form 


